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Дисциплина ИНОСТРАННЫЙ ЯЗЫК В ПРОФЕССИОНАЛЬНОЙ ДЕЯТЕЛЬНОСТИ
ФИО преподавателя ВОЛОДИНА Л.Т.

Задание на 07.04.2020

Тема занятия: Ведущие автомобилестроительные компании. Признаки инфинитива и инфинитивных оборотов.
Warming up.  Read the text.

Automobile as the word suggests is a mixture of the Greek word “autos” and “mobilis” (Latin) standing for

“self movable”. An automobile is any vehicle used for transportation that can move itself without being pushed by an external force such as an animal. Automobiles are also called cars. This could have its origin from the word “carrum” or “currus” meaning a vehicle having wheels. Also another explanation would be the middle English word “cart”. The history of automobiles dates back to many years.
Задание 1 Прочитайте и переведите текст.

COMPANY HISTORY
Henry Royce did not like his Decauville car, which ran badly and often broke down. So he decided to make a better car himself, and in 1904 he produced his first car two-cylinder model. Charles Rolls, a car manufacturer, was very impressed by Royce’s car, and soon Rolls and Royce went into business together. One of their first models was the Silver Ghost. In 1907 the Silver Ghost broke the world record by driving 14,371 miles (23,120 km) without breaking down once. After the drive, it cost just over ₤2 to put the car back into perfect condition. It is not surprising that the Silver Ghost was called “the best car in the world”.

Rolls-Royce cars are famous for running quietly: an advertisement for one model said “the loudest noise is the ticking of the clock”. The cars are made very carefully. A lot of the work is done by hand, and they

take a long time to manufacture: only twelve cars leave the factory every day.

Задание 2. Look at the words and expressions below, and choose the best explanation for each. After you have done that, check in a dictionary.

1. It broke down:

a. It made a noise b. Pieces fell off it c. It stopped working

2. Charles Rolls was very impressed by Royce’s car:

a. He thought it was good. b. He wanted it. c. He didn’t understand it.

3. model:

a. picture b. small car c. sort of car

4. endurance:

a. going fast b. going on for a long time c. being easy to drive

5. Rolls-Royce cars are famous:

a. They are very good. b. Everybody knows about them. c. They are very quiet.

6. ticking:

a. a sort of clock b. a part of a car c. a sort of noise

Задание 3. Ответьте письменно на вопрос. 
What are the Rolls-Royce cars characterized by?
Задание 4а. Read some facts from the development history of the Nissan Motor Company.

1925 Three small motor companies merge (сливаться) to form the Dat Jidosha Seizo Company

1932 The company produces the first Datsun car.

1934 The owners re-name the company “The Nissan Motor Company Ltd”.

1935 Nissan opens the Yokohama plant.

1938 Nissan introduces mass production methods.

1947 Nissan stops producing passenger cars and concentrates on truck (Br.E.=lorry) manufacture.

1958 After World War II Nissan begins car production again.

1966 A Datsun 210 wins the Australian Rally.

1980 Nissan sets up its first foreign manufacturing operation in Mexico.

1981 Nissan makes an agreement with Volkswagen to produce the Santana in Japan.

1992, 1993, 1994 In the UK, Nissan earns a Queen’s Award for Export Achievement for three years running.

Задание 4b. Use the past simple to describe things that happened in the past and finished at a specific time.

Add -ed to regular verbs to make the past form. Many past simple forms are irregular: go-went, make-made.

Use didn’t (did not) to make the negative.

Use did+subject + verb stem

He repaired the car yesterday. Did he repair the car yesterday?

He didn’t repair the car yesterday.

Задание 5A. Work in pairs. Ask and answer questions about the Nissan Motor Company.

Example: What happened in1925?

B Three small motor companies merged.
A What happened in 1947?

B ………………………… .

5B. Ask and answer more questions about Nissan.

Example: When did the original three companies merge?

B In 1925.

A When did …..?

Задание 6. Choose the correct verbs and put them in past simple.

THE HISTORY OF NISSAN IN THE UK

Nissan established a small trading company in 1969. It _______(1) cars from Japan and _______ (2) them in the UK. The company only _______ (3) 0,2 % of the market in 1970 but it _______ (4) fast. In 1974 it _______ (5) the UK’s leading car importer.

(be sell establish grow import have) 
When the UK _______(6) a major export market, Nissan _______ (7) to build an assembly plant. After a long search it _______ (8) a suitable site in Tyne and Wear. Cars _______(9) rolling off the production line in 1986. 
(find decide begin become) 
At first, the plant _______ (10) limit production because of the JAMA import restriction agreement. But in 1988 UK companies _______ (11) the majority of components and Nissan ________ (12) the target of 60% local content. The plant _______ (13) increase production. 
(achieve be able to have to supply) 

In 1991 Nissan ________(14) a new distribution company and Henry Ford _______ (15) operations in January 1992 with a network of 150 dealers. At the end of the year there _______(16) 267. Nissan _______(17) the Micra (March) in 1993 and it _______ (18) the European Car of the Year Award. It _______ (19) the first Japanese badged car ever to win. 
(be be win set up launch start)

Задание 7. Read the text about the history of the Ford Motor Company and answer the questions that follow.
Ford Motor Company is an American automaker and the world's fifth largest automaker based on worldwide vehicle sales. Based in Dearborn, Michigan, a suburb of Detroit, the automaker was founded by Henry Ford in 1903. It was the third car manufacturing company formed to produce the cars he designed. Henry Ford (1863-1947) was 40 years old when he founded the Ford Motor Company, which would go on to become one of the largest and most profitable companies in the world, as well as being one of the few to survive the Great Depression. The largest family-controlled company in the world, the Ford Motor Company has been in continuous family control for over 100 years. Ford now has several brands, including Lincoln and Mercury. Ford made his first car, called the "Quadricycle," in June, 1896. However, success came after he formed the Ford Motor Company in 1903. In 1908 he introduced the Model T and it was a success. Henry

Ford invented an improved assembly line and installed the first conveyor belt-based assembly line in his car factory in Ford's Highland Park, Michigan plant, around 1913-14. The assembly line reduced production

costs for cars by reducing assembly time. Ford's famous Model T was assembled in ninety-three minutes.

After installing the moving assembly lines in his factory, Ford became the world's biggest car manufacturer. By 1927, 15 million Model Ts had been manufactured.

Answer the questions.

1 Where was the company located?

2 What did he invent? When and where was it used?

3 What were the results of his invention?

4 What was his first car? Was it a success?

5 What car brought him a success?

6 How long did it take to assemble the car?

Задание 8 A. Look through the text and answer the questions.

FORD OF BRITAIN

When did it all start?

In spring of 1896 engineer Henry Ford built his first horseless carriage. In 1903 Ford backed by 12 local businessmen, formed the Ford motor company which later pioneered* modern production line techniques.

When did it come to Britain?

In 1911 Ford’s first assembly plant outside North America opened at Trafford Park, Manchester, and in 1929 work started on building the Degenham plant where the first Model AA truck rolled off the line* at

1.15 p.m. on October 1, 1931.

*to pioneer: to be the first to invent something

* roll off the line: to be manufactured

8 B. Make up questions to these numbers and answer them.

1903 1929 12 1896 1931 1911

8 C. Complete these sentences.
1. In 1896 Henry Ford _______ his first car.

2. In 1903 Henry Ford _______ the Ford Motor Company.

3. Twelve local businessmen ________ him.

4. In 1911 Ford _______ the first assembly plant in Manchester, England.

5. In 1929 he _______ building the Dageham plant.
Задание 9.
1.Прочтите текст с целью общего понимания содержания.
2.Дайте описание основных узлов автомобиля.
3.Кратко изложите содержание текста на русском языке.
Lotus Elan Саг
Lotus Elan is a car, capable of carrying four person and their lug​gage at great speed and in comfort. It is the finest sport car.

In construction, it is very similar to the two-seater Elan car, with a steel chassis, at the front of which the 16-litre engine is installed and at the rear the differential is located. The body is a glass-fiber unit, carry​ing no chassis stresses. The whole car is just 2 ft longer and 10 inch wider than the previous version.

With such a light and aerodynamic car the driver can reach maxi​mum 6500 rpm easily. Despite its high power output and two carburet​tors the engine always started easily. An engine is a smooth unit with a high torque.

Задание 10.
1.Прочтите текст 1 с целью общего понимания содержания.
2.Переведите текст, пользуясь словарем.
Autotest of Volvo

Since previous tests of the car the engine capacity has been in​creased from 1.778 to 1.986 c.c.

Earlier Volvos had some real difference in appearance but the current series have international look, but with considerably more space for passengers and baggage than the earlier models. Technically, they are conventional, with the 2-litre 4-cylinder engine mounted in front, and rear-wheels drive through a 4-speed gearbox and coil-spring live axle.

Brakes are servo-assisted discs, the rear brakes incorporating small drums for the parking brake. Twin hydraulic circuits unite both front brakes to one rear brake, so that when one circuit fails only one brake is lost.

The synchromesh gearbox is satisfactory. In average conditions the car rides well.

Грамматический материал.
Задание 11. Изучите грамматический материал и выполните задания по теме. 

THE INFINITIVE (ИНФИНИТИВ)

Инфинитив представляет собой неличную форму глагола, которая только называет действие в процессе его совершения, не указывая ни лица, ни числа, ни наклонения. Инфинитив соответствует в русском языке неопределенной форме глагола(инфинитиву), которая отвечает на вопросы что делать? что сделать? Формальным показателем инфинитива является частица to, которая не употребляется в следующих случаях:

· после модальных глаголов (can (could), may (might), must, should) - You must learn this rule.- Ты должен выучить это правило. Но: ought to – должен, следует.You ought to tell her the truth. – Тебе следует сказать ей правду.

· после глаголов to make (заставлять), to let (позволять), to help (помогать) - He made me read this book. – Он заставил меня прочитать эту книгу. Help me do it. – Помоги мне сделать это.

· в обороте Complex Object («объектный падеж с инфинитивом») после глаголов to see (видеть), to watch(наблюдать), to hear (слышать), to feel (чувствовать) и некоторых

других - I saw her
leave the room.- Я видел, что она вышла из комнаты.


	
	1.
	ФОРМЫ ИНФИНИТИВА

	
	Active
	
	Passive
	Значение

	Indefinite
	to write
	
	to be written
	Действие, одновременное с

	
	
	
	
	действием сказуемого

	Continuous
	to be writing
	
	---------
	Длительное действие,

	
	
	
	
	одновременное со сказуемым

	Perfect
	to have written
	
	to have been written
	Действия, предшествующие

	
	
	
	
	действию сказуемого; переводятся

	
	
	
	
	прошедшим временем


2.
ФУНКЦИИ ИНФИНИТИВА В ПРЕДЛОЖЕНИИ

	
	ФУНКЦИЯ
	
	
	
	
	
	
	
	
	
	ПРИМЕР

	1. Подлежащее (переводится существительным
	
	To  walk  in  the  garden  was  pleasant.  –

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	или неопределенной формой глагола).
	
	
	Прогулка в саду была приятной.(Гулять в

	
	
	
	
	
	саду было приятно)

	
	
	
	
	
	It was impossible to find the way. – Было

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	сложно найти дорогу.

	2. Часть сказуемого:
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	a)
	простого;
	
	
	
	I  will  go  to  the  institute  tomorrow.  –  Я

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	завтра пойду в институт.

	b)    составного    глагольного    (переводится
	
	You must improve your methods of work.-

	
	
	
	
	
	
	
	
	
	
	
	

	неопределенной формой глагола);
	
	
	Вы должны улучшить методы работы.

	c)
	именная   часть
	сказуемого
	(после
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	подлежащего,  выраженного  словами  -  aim,
	
	Our aim is to  fulfill  our work  in  time. –

	
	
	
	
	
	
	
	
	

	purpose (цель); duty (долг); task (задача); wish
	
	Наша цель (заключается в том, чтобы) –

	(желание);   plan(план);
	problem
	(задача,
	
	выполнить работу вовремя.

	проблема) и т.д. и глагола-связки to be, причем
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	глагол-связка либо совсем не переводится, либо
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	переводится   словами   “заключаться   в   том,
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	чтобы; состоять в том, чтобы).
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	3.  Дополнение  (переводится  неопределенной
	
	We hope to get new data in a week. – Мы

	
	
	
	
	
	
	
	
	

	формой глагола).
	
	
	
	надеемся  получить  новые  данные  через

	
	
	
	
	
	неделю. He was asked to wait a little. – Его

	
	
	
	
	
	
	
	

	
	
	
	
	
	попросили немного подождать.
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	4.Определение(всегдастоитпосле
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	определяемого
	
	
	существительного
	и
	
	a) The metal to be used in our experiment is

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	переводится: а) определительным придаточным
	
	to  be  hard.  –  Металл,  который  будет

	
	предложением,  сказуемое  которого  выражает
	
	использован
	
	(нужно,
	можно

	
	долженствование
	(“нужно”),
	возможность
	
	использовать)  в  нашем  опыте,  должен

	
	(“можно”)
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	будущее
	время;
	б)
	
	быть твердым.
	
	
	
	
	
	
	
	
	
	
	
	

	
	неопределенной  формой  глагола;  с)  иногда
	
	b) They have  no  intention  to  order  these

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	существительным).
	
	
	
	
	goods. – У них нет намерения заказывать

	
	
	
	
	
	
	
	
	эти товары.
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	c) The idea to use this new substance didn’t

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	leave us. – Мысль об использовании этого

	
	
	
	
	
	
	
	
	нового вещества не покидала нас.
	
	
	

	
	ПРИМЕЧАНИЕ:  Инфинитив  после  слов  the
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	last,  the  first,  the  second…  тоже  является
	
	The lab assistant was the last to leave the

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	определением  и  переводится  глаголом  в  том
	
	lab.  –  Лаборант  ушел  из  лаборатории

	
	времени, в котором стоит глагол to be (причем
	
	последним.
	
	
	
	
	
	
	
	
	
	
	
	

	
	сам глагол to be переводить не нужно)
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	5.Обстоятельство(стоитвначале
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	предложения  перед  подлежащим  или  в  конце
	
	To   reinforce   the   metal   engineers   use

	
	
	
	
	
	
	
	
	
	
	
	

	
	предложения. Иногда вводится союзом in order
	
	artificial fibres. – Чтобы усилить металл

	
	to–длятого,чтобы.Переводится
	
	(для    усиления    металла),    инженеры

	
	неопределенной   формой   глагола   с   союзом
	
	используют искусственные волокна.

	
	чтобы, для того чтобы или существительным с
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	предлогом для).
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	ПРИМЕЧАНИЕ:   Инфинитив   в   функции
	
	This metal is too brittle to be used in our

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	обстоятельства   следствия   (со   словами   too,
	
	case.  –  Этот  металл  слишком  хрупкий,

	
	enough перед инфинитивом) часто при переводе
	
	чтобы  его  можно  было  использовать  в

	
	имеет модальный оттенок.
	
	
	
	нашем случае.
	
	
	
	
	
	
	
	
	
	
	
	

	
	6.  Вводная  фраза  (Обычно  стоит  в  начале
	
	To sum up, we shall present the table.  –

	
	
	
	
	
	
	
	
	

	
	предложения,  всегда  выделяется  запятыми  и
	
	Подводя итог, приведем таблицу.
	
	
	

	
	
	
	
	

	
	может  переводиться  или  деепричастием,  или
	
	to begin with –для начала, to make (cut) a

	
	неопределенной формой глагола).
	
	
	
	long story short – короче говоря, to tell the

	
	
	
	
	
	
	
	
	truth - по правде говоря
	
	
	


Задание 12. Переведите следующие предложения, обращая внимание на разные формы инфинитива.
1. We hope to meet her soon. 2. I want to be helped by the teacher. 3. Jack seems to be sleeping now. 4. I am sorry to have broken your pen. 5. She pretends to be writing a letter now. 6. Jack seems to know a lot. 7. He seems to have sent the telegram already. 8. She wants to be taken to the conference by her friends. 9. The student is happy to have answered all the questions correctly.

Задание 13. Переведите предложения, где инфинитив является:

a) подлежащим. 1. To come in time is very important for me. 2. To live is to struggle. 3. It was
necessary to develop a new method of cutting metals. 4. To obtain steel of the desired quality is the main subject of the experiment. 5. To design new machine-tools is the task of a mechanical engineer.

b) частью сказуемого. 1. They should supply this plant with machinery of good quality. 2. Our task is to obtain a new mixture with new properties. 3. The engineer must know the conditions under which the new material is to be utilized. 4. The new apparatus was to control all the
temperature changes during the experiment. 5. The task of this new hydroelectric power station is to supply energy to many industrial centres.

c) дополнением.1. They hoped to be sent to the conference. 2. The engineer was asked to design a transistor device which will regulate the temperature in the laboratory. 3. The student was asked to measure the water level in the tube very accurately. 4. The engineer hoped to use that new device for automatic measurements.

d) определением.1. It is a chance not to be missed. 2. He was the first to speak again. 3. Engineers must know the best and most economical materials to use, understand the properties of these materials and how they can be worked. 4. A special design bureau in St Petersburg was the first in the world to develop production of superlong escalators. 5. One of the ways to make planes as economical as possible is to lighten the aircraft by using new composite materials. 6. The famous scientist Lebedev was the first to solve the problem of synthetic rubber.
e) обстоятельством.1. He walked quickly in order to come in time. 2. To do well in the exam you should attend all the lectures. 3. I read the rule once more to understand it better. 4. To perform this work you should have all the necessary equipment. 5. This problem is too complex to be solved by the students. 6. In order to break this glass a great amount of force must be applied. 7. To increase the productivity of a machine-tool one should know the characteristics of the material to be machined.
f) вводной фразой.1. To tell you the truth, this experiment was not carried out. 2. To make a long story short, he developed a new method of cutting metals. 3. To begin with, the expedition has just arrived to Vladivostok. 4. To sum up, he has made a good casting.
ДОМАШНЕЕ ЗАДАНИЕ. СДАЕТСЯ ВМЕСТЕ С РАБОТОЙ.

НАПИСАТЬ диалог на английском языке о ведущей автомобилестроительной компании (70-100 слов).
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Примечание 

ОДИНАКОВО ВЫПОЛНЕННЫЕ ЗАДАНИЯ НЕ ПРИНИМАЮТСЯ! 

Задания сдать в электронном виде до 14.00 25.03.2020 на электронную почту Ludmila-n621@mail.ru
